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61 348 Service Operations Management
Final Exam
1. Health Excellence Hospital observed in the last couple of months an increase in the number of complaints concerning its services rendered. The General Manager Carmella Bird decided to form a brainstorming group to analyze the situation. This group, after a thorough investigation and brainstorming sessions came out with the following 5 categories of possible problems thought to create customer complaints:

· Hygienic problems 
· Maintenance problems
· Erroneous Billing problems
· Staff misbehavior problems
· Others

Later, management decided to take some observations to confirm the evidence and to decide which problem needs to be tackled first. In this regard, the following data has been gathered by Health Excellence Hospital employees concerning the above spelled out possible reasons:

	
	Problem Areas

	Week
	Hygienic
	Maintenance
	Erroneous Billing
	Staff Misbehavior
	Others

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	1
	2
	1
	2
	2
	1

	2
	3
	0
	4
	2
	2

	3
	1
	2
	5
	1
	1

	4
	0
	3
	1
	1
	1

	5
	4
	1
	2
	0
	0

	6
	2
	2
	2
	4
	2

	7
	6
	3
	6
	0
	1

	8
	5
	1
	3
	2
	1

	
	
	
	
	
	

	Total
	23
	13
	25
	12
	9


a) Prepare a Run Chart of “Erroneous Billing” across time (measured in weeks). (2 Points)

b) Prepare a Pareto Chart for the above data. (2 Points)

c) According to you, which problem area needs to be tackled first? Why? (1 Point)

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

2. Explain how internal quality derives eventually company’s profitability and growth using the “Service Profit Chain”.  (4 Points)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
3. During the past season, Fatma Holiday Village did not achieve very high occupancy rates despite a reservation system that was designed to keep the Holiday Village fully booked. Apparently, prospective guests were making reservations that, for one reason or another, they failed to honor. A review of Front-desk records during the current peak period, when the Holiday Village was fully booked, revealed the record of no-shows as shown in the below table:
	No-shows
	Probability
	Reservations
	Cumulative

	
	
	Overbooked
	Probability

	
	
	
	

	0
	0.22
	0
	0.00

	1
	0.18
	1
	0.22

	2
	0.12
	2
	0.40

	3
	0.09
	3
	0.52

	4
	0.08
	4
	0.61

	5
	0.06
	5
	0.69

	6
	0.05
	6
	0.75

	7
	0.05
	7
	0.80

	8
	0.07
	8
	0.85

	9
	0.06
	9
	0.92

	10
	0.02
	10
	0.98


Suppose that a vacant room (because of No Show) results in an opportunity loss of $ 100. 

a) Calculate the Expected Number of No Show Rooms. (2 Points)
------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
b) Calculate the Expected Opportunity Loss. (1 Point)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
In order to avoid some of this loss, Fatma Holiday Village management is considering an overbooking policy. Yet, if a guest holding a reservation is turned away (due to overbooking), other costs would be incurred. Fatma Holiday Village has made arrangements with a nearby Club (Q7 Club) to pay for the rooms of guests whom it cannot accommodate. Further, a penalty is associated with the loss of customer goodwill and the impact this has on future business. Management estimates this total loss to be approximately $ 160 per turned out guest.
c) Fill the below Overbooking Loss Table (3 Points)
	
	
	Reservations Overbooked

	No-shows
	Prob.
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	0
	0.22
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	1
	0.18
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	2
	0.12
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	3
	0.09
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	4
	0.08
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	5
	0.06
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	6
	0.05
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	7
	0.05
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	8
	0.07
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	9
	0.06
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	10
	0.02
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	
	
	
	
	
	
	
	
	
	
	
	

	Expected
	-------
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 
	 

	Loss ($)
	
	
	
	
	
	
	
	
	
	
	
	


d) How many rooms shall be overbooked? Why? (2 Points)
------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
N.B: Your answers to parts a), b) c) & d) shall be rounded to the nearest cent.
4. Explain how Service Companies, by developing complementary services, manage to smooth demand. What is special about that very complementary service (when compared to the original service) to allow maximum benefits from this strategy? (3 Points)
--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
5. Can you come up with 3 examples depicting how global companies apply cultural transferability while operating in different countries? (3 Points)

--------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
6. “Host governments play a significant role in restricting the growth of service globalization” Do you agree with this statement? Yes? No? Could you provide at least one example supporting your answer?  (2 Points)

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
Good Luck
PAGE  
1

